
−2.5 −2.0 −1.5 −1.0 −0.5

0.
2

0.
3

0.
4

0.
5

0.
6

(K
cd

)1
3

R2 = 0.29
p = 0.002

A
−2.5 −1.5 −0.5

0.
2

0.
3

0.
4

0.
5

0.
6

R2 = 0.22
p = 0.008

B
−1.5 −0.5 0.5

0.
2

0.
3

0.
4

0.
5

0.
6

R2 = 0.05
p = 0.23

C

−2.5 −2.0 −1.5 −1.0 −0.5

0.
10

0.
15

0.
20

ERtot (g O2 m−2 d−1)1 3

(K
dd

)1
3

R2 = 0.16
p = 0.026

D
−2.5 −1.5 −0.5

0.
10

0.
15

0.
20

ERsed (g O2 m−2 d−1)1 3

R2 = 0.13
p = 0.05

E
−1.5 −0.5 0.5

0.
10

0.
15

0.
20

ERwc (g O2 m−2 d−1)1 3

R2 = 0.01
p = 0.616

F


